IPC Control

Mean Difference

Mean Difference

Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
Jaber 2010 11.68 0.11 52 12.04 0.09 53 100.0% -0.36 [-0.40, -0.32]
Total (95% Cl) 52 53 100.0%  -0.36 [-0.40, -0.32] )
?et‘ta;ogeneny|:| N;t atF-)pz“Ea:) zlse33 P < 0.00001 4 05 0 05
est for overall effect: Z = 18.33 ( ’ ) Favours control (IG) Favours IPC
IPC Control Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI 1V, Random, 95% CI
Jaber 2010 28.7 2.25 52 323 3.72 53 100.0% -3.60 [-4.77, -2.43]
Total (95% Cl) 52 53 100.0%  -3.60 [-4.77, -2.43] {
Heterogeneity: Not applicable t f 1 f f
o -50 -25 0 25 50
Test for overall effect: Z =6.01 (P < 0.00001) Favours control (IG) Favours IPC
IPC Control Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% CI
Jaber 2010 55.6 3.09 52 56.6 3.61 53 100.0% -1.00 [-2.28, 0.28]
Total (95% CI) 52 53 100.0% -1.00 [-2.28, 0.28]
?et?;ogeneltylzl N;t atp.)p;h(iaflgs o ois -_100 -E;O (-) 5.0 100.
est for overall effect: Z = 1.53 (P = 0.13) Favours control (IG) Favours IPC
IPC Control Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight IV, Random, 95% CI IV, Random, 95% ClI
Jaber 2010 74.41 0.53 52 75.32 0.78 53 100.0% -0.91 [-1.16, -0.66]
Total (95% CI) 52 53 100.0% -0.91 [-1.16, -0.66] ‘
Heterogeneity: Not applicable _54 _*2 0 é i
Test for overall effect: Z = 7.00 (P < 0.00001) Favours control (IG) Favours IPC
IPC Control Mean Difference Mean Difference
Study or Subgroup Mean SD Total Mean SD Total Weight [V, Random, 95% CI IV, Random, 95% ClI
Jaber 2010 2496 0.25 52 26.436 1.05 53 100.0% -1.48 [-1.77,-1.19]
Total (95% Cl) 52 53 100.0%  -1.48 [-1.77, -1.19] S -
Heterogeneity: Not applicable =2 =1 ; 1’ é
Test for overall effect: Z = 9.95 (P < 0.00001) Favours control (IG) Favours IPC
IPC Control Risk Ratio Risk Ratio
Study or Subgroup Events Total Events Total Weight M-H, Random, 95% CI M-H, Random, 95% CI
Jaber 2010 7 55 10 64 100.0% 0.81[0.33, 2.00]
Total (95% CI) 55 64 100.0% 0.81 [0.33, 2.00] o
Total events 7 10

Heterogeneity: Not applicable
Test for overall effect: Z = 0.45 (P = 0.65)
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